Math 130, Day ;ﬁ’ Hand-In: Name:

You should be able to determine the limits of each of these functions very easily. Note where you use “highest powers.”
Use 400 and —oo where appropriate.
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4. a) Does f(z) = po have any horizontal asymptotes? Justify your answer with appropriate limit calcula-
tions. , {s
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b) Where does f have vertical asymptotes? Justify your answer with appropriate limit calculations. Where should
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c‘)XBonus: Does f(x) have a removable discontinuity? J ustify your answer with appropriate limit calculations.
Remember z = a is a removable discontinuity if lim,_,, f (z) exists BUT is NOT EQUAL to f(a).
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